
Solution: Fig 1 represents the 

graph between the force 

applied by woman vs 

displacement.  

 

Fig 2 represents the graph 

between the frictional force 

(negative force) vs 

displacement.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Work done by woman = area under the graph in Fig 1 

= area of rectangle abeo + area of trapezium bcde 
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= 1000 + 750 = 1750J 

Work done by frictional = area under the graph in Fig 2 

                                      = area of rectangle abco  

                                      = (-50) x 20 = -1000J 

 

 

 

 

  


